1.

oy
ol
T
olJ

)
T

IS



2L 0

I“El‘ tlo
o
N
ol

i)
o

o

(V)
ro,
B

o

)

ol

-

1PN

= o)
=2 Zol7l 18.84cm Y

rg
lo



e QA=) Bulg FakAl L.

2cm
5cm
I | \
\
1 | \
1 | !
: | 12cm
1 1
! ] !
T !
F I RNV
V ~,

/

I

\
@



4. o A=PO $uE FohAL,

2cm 4em




5. AL ZHolE FoHAL.




ol
mjm
ﬂ
el
o1
e
AW
o
o
M
il

o
e

2o BAO| Po|7t AT 1)

o
[e]

A ARSI

2]
o]

6.

@ ForH

@ Aoy,

@ 7] wet oS

<[z
o

4«

on



7. ohe AR S0 Lol a0,

T --31.32cm- 7em

o




lem? & o= o] 3mL 7} 5+ E270]
U o] o= v 97159 49
TS Aste H BF 2 mL 7F AR EHZE

A FSHA L.

i
)

a = mL



cm?



